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Assessment Name : OPRB CBRE Warder- 23rd Dec 2022-SL-3(C)

# QUESTION
Subject: General English | Chapter: 04-Grammar-05-Prepositions
Q) Do die.
A. and
B. but
Options
or
D. for
QQ We (withdrew from) the match after a quarrel.
VA dropped out of
_ B. kept out of
Options
packed up
D. went back

The teacher made him stand up.

3
e The Passive form of the above sentence will be
A, The teacher was made stand up.
B. The teacher has made him stand up.
Options
He has made the teacher to stand up.
D He was made to stand up.
Q@ English all over the world.
JA. is spoken
_ B. spoken
Options
has spoken
D. has been speaking

Q@3 He says, "The girl is reading" (Change into Indirect Speech)

A, He said that the girl was reading
v B. He says that the girl is reading
Options o o
He said that the girl is reading
D. He says that the girl was reading
Q (6) The headmaster gave a certificate to the girl had saved the life of a child.
VA who
B. which
Options
whom
D. when
Q(7)  Iwishl rich and had a lot of money.
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A. am
) B. are
Options
7 G were
D. shall be
Q@) When I was a child, I the flute.
A. I was playing
B. I'm playing
Options
I play
v D. I played
Choose the correct antonym of
QM iy
captivity :
A. confinement
)  B: freedom
Options

C. restriction

D. temporary

In the following question, out of the four alternatives, select the alternative which is the
Q (10)  best substitute of the phrase.

wide in range or effect

v A. sweeping

) B. exaggerate
Options i
C. exclusive
D. superficial

A mask is a laist face! It can have several functions. First, it is used to hide the identity of the
person wearing it. Criminals often wear it for this reason. Masks may also be worn for having
Fun. At one time, masked balls were very popular in Europe. People who attended these
dances wore masks and only removed them at the end of the night. Another function is to
change the wearer into another person or being. This is based on the old belief in some

Q (11) cultures that the person wearing the mask can change into the character of the mask as there
are spirits in all living and non-living matter and these are contained within a mask made of
such matter,Masks are also important in many different kinds of dance and the a tre. The
audience recognizes the character played by the actor by identifying the masks they wear.

The author calls the mask 'a false mask' because:

A. it looks like so

) v B. it hides the face of the wearer
Options )
it appears to be a false one

D. it denotes an alien character

Q(12) ' A mask is a laist face! It can have several functions. First, it is used to hide the identity of the
person wearing it. Criminals often wear it for this reason. Masks may also be worn for having
Fun. At one time, masked balls were very popular in Europe. People who attended these
dances wore masks and only removed them at the end of the night. Another function is to
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change the wearer into another person or being. This is based on the old belief in some
cultures that the person wearing the mask can change into the character of the mask as there
are spirits in all living and non-living matter and these are contained within a mask made of
such matter,Masks are also important in many different kinds of dance and the a tre. The
audience recognizes the character played by the actor by identifying the masks they wear.

The noun form of 'contained’ is:

A. containly
) B. containerize
Options )
contain
v D. container

A mask is a laist face! It can have several functions. First, it is used to hide the identity of the
person wearing it. Criminals often wear it for this reason. Masks may also be worn for having
Fun. At one time, masked balls were very popular in Europe. People who attended these
dances wore masks and only removed them at the end of the night. Another function is to
change the wearer into another person or being. This is based on the old belief in some
Q(3) | cultures that the person wearing the mask can change into the character of the mask as there
are spirits in all living and non-living matter and these are contained within a mask made of
such matter,Masks are also important in many different kinds of dance and the a tre. The
audience recognizes the character played by the actor by identifying the masks they wear.

The use of masks in masked balls was:

A. for taking results

B. for getting prize
Options .
for giving comfort

v D. for having fun

A mask is a laist face! It can have several functions. First, it is used to hide the identity of the
person wearing it. Criminals often wear it for this reason. Masks may also be worn for having
Fun. At one time, masked balls were very popular in Europe. People who attended these
dances wore masks and only removed them at the end of the night. Another function is to
change the wearer into another person or being. This is based on the old belief in some
Q4 | cyltures that the person wearing the mask can change into the character of the mask as there
are spirits in all living and non-living matter and these are contained within a mask made of
such matter,Masks are also important in many different kinds of dance and the a tre. The
audience recognizes the character played by the actor by identifying the masks they wear.

Masks are useful to stage actors because:

A. they hide their foolishness

B. they conceal their identity
Options _ ) )
v C. the audience recognizes the character being played
D. the audience can't see him depress

Q(I5) | A mask is a laist face! It can have several functions. First, it is used to hide the identity of the
person wearing it. Criminals often wear it for this reason. Masks may also be worn for having
Fun. At one time, masked balls were very popular in Europe. People who attended these
dances wore masks and only removed them at the end of the night. Another function is to
change the wearer into another person or being. This is based on the old belief in some
cultures that the person wearing the mask can change into the character of the mask as there
are spirits in all living and non-living matter and these are contained within a mask made of
such matter,Masks are also important in many different kinds of dance and the a tre. The
audience recognizes the character played by the actor by identifying the masks they wear.
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Most of the criminals wear masks:

JA to hide their identity

B. to make others laugh
Options
to make them fool
D. to get reward
0 Translate in to English:-
16 ~
(o) LIUENEE 2IRIIER YRYh FQlem @ ?
A. Was the star twinkling in the sky?
) v B. Were the stars twinkling in the sky?
Options o
Is the stars twinkling in the sky?
D. Are the stars twinkling in the sky?
07 Translate in to English:-
2I6s 99 GE'8 6093 2l 968 0% 699D 2R |
A. Everything is just the same before.
) B. Everything was just the same as before.
Options ) o .
Everything will just the same like before.
JD. Everything is just the same as before.
Translate in to English:-
Qa8
6l fll2ll 6911 JF @S|
A. My mother took cares of me.
B. My mother look at me.
Options
JC. My mother looks after me.
D. My mother looks me.
0o Translate in to English:-
; GIBAF PRSI JIQ 6T ARGR |
A. The patient had been died before the doctor had called in.
) B. The patient has been died before the doctor has called .
Options
The patient died before the doctor was called in.
D. The patient was died before the doctor was called .
Translate in to English:-
Q (20 B conpgli
g 49| dL6e IS 9@l9g Ml |
W The boy went to the bazar instead of going to school.
) B. The boy go to the bazar instead of go to the school.
Options

The boy gone to the bazar instead of went to school.

D. The boy will go to the bazar instead of went to the school.
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Subject: Odia Language | Chapter: Vocab-10-§1912] Q18

P sa1e Q1
2ldQ-
A. Qe
) v B. 499
Options _
C. geREl
D. eelgl
S ae 9959 S91E 226TRIF §I8 '8 629 ?
Q°Re
A. ARSI RS
/B. AF°Re
Options _
C. AQI°Re
D. GQIP8e
G QYD F99I8 AUQIF YRd /9 |
QAL OB F6E QUSRI 2J6Mm |
A. QRle
/B. 2AQRRIS
Options
C. AVRIS
D. ANAI
O QUYS G912 RIS I8 /A |
Q8 1969 AIQY BIGE L°0IR 963 |
A. 9q1§¢
 vB.  gded
Options
C: 6QIRIGLNIR
D. SIQUEYIAR
a¢ 4959 996 9eue 5l |
Q3 2
'CRRTR"
A. QRS + AN
vB. QRIe + 29
Options

C. ORI + Q8
D. R+ 2 + |

Q(6) = GT6sI¥E TR SULEIR QIFUR 6R0I6A YRR ?

Options A. Sl 968
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/B. 6684 geQ
C. adgeg
D. Qald6x

Q(7) 999999 ASFE KR 68L0IER ?

A, GRIGS 9SQ
B. QIR A1IZER

J/C. 9989 99 g8
D. QIRYR 65T6

Options

Q@B)  '9Y - 9269 60% gRI0S 2GR 0FR 2

A. alaflafa[
/B. ‘619 QYIS
Options _
'Y Fole
D. s
Qe) q6qIa 9969 g8 99 5gl2l |
(A) Q¥R (B) QUFKR (C) 929 (D) QLR
A. QAUIQ
B. QUFIRN
Options
(58 QIR
v D. WL

Q(10)  RIG AU OGS - QIR 22l @& 2
A, 969 R 6228 9 TR 65N
/B. 23 GRS 69¢IRS
Options _ _
C. 799907 69IRS!
D.  99Ig 9 980 AFRN KRS

R°QUR1 AR A0S BL2 AFIIS TLR /R

I could not but praise him

Q1)

A, oIg grdl 9381 2aRIRl
/B, {0Ig g6°9l @ 9% QZUR §1E 1

Options _
69 96°QIR 6QIGY 2GR |
D. ¢ oIggsd SRGIE |
01z  NHEIAG6RI 40 632 2AZRIT AR /R

Every youngman is responsible for this work.
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Options

Q(13)

Options

Q(14)

Options

Q(15)

Options

Q (16)

Options

A, 92 Q19 AR TR 999 Qa1

VB,  66YS Z9F 9T QIF QI QL |
C.  9694Ye geR 9E Q16 QIR QIg 621RQIRE |
D. 98 QIf dIR 96SYSR LT QI 6269QIT |

R°QUR1 AGERLR 0T BF2 AFRIQ TLAG 9]
The pilgrims will visit Lord Jagannath on any day.
A. dIgillee R A8 @ eogllig Gde FRdIR6S 1
B. AIRIFIES 621 6Q16T B8 RIQIRIG QEF FAIN6ER FIE 1
C. QIS 641 67148 08 Kagldg Qde @AQIg IR 26m 1
vD. AIBIFI6R 62 67168 B8 KAl Q6T FR6ES |
R°QAUR1 AGERLR 0T BF2 AFRIQ PLQ 4]
The teacher will not be teaching grammar to the students.
VA. 9@ QISFING YT T 6968 QI |
B. S99 RISAINT QUSRS I8 6Q6R QI |
o 897 RSCING UIRAE JI 696 |
D. 99 RLAIRg UIKAE S8l 6961 |
R°UR AGERER A0 352 AGRIQ SLF /R

Can you finish the work in five days?

A. @661 AI8TR6R QAT AR & 2
vB. @661 JI8TQ6R QAT ARAIRS & 2

¢ G661 AIHTR6R RUFITG ARG AR 2

D. MYT 2651 AIBTFER RICTY 2B 699

AFERET GI0GA 6I' 867 TUILINYS| IYELN QA9 AFERE ARIAER G2 |

0@ €68 OF FiFl G951 6208 AAIGIES! | 6aaEler 12l 9°0g ARAINE 627G
AFAIGIEN 691 QRIAN | GIRG 6R W64 2T AR 6T IANGIE | 69 FAUCR-
e @ FINIC QEISIE | 998G 29RIS 859l 29 Qg ARIe 9ede Q! |
R6RRFIEE IT G45 QE6a JRIGY 69R6R | BIRGIE F1I6E SFIGEE 686R 62T
9IR 62INZAIR A6AS JACA BRG 6TIR2IT | 0RSI0A T84, 2@ YLAAIa ATAD
J9R 9EAIE. CRER 6465 661l 26M & RINGIA FIET T FASIN6EE 2B AUICI AIR
SRUIQ FITIT | FIFES TRE 626m 9618 @ B | gH1E 699R 2de QYR AAME
g6¢ | acleAg6n AR, AR 2RI 64Ig 91T 0F 69R2IN | 9 604 68868
a6l 99g 0267, ARIFETRIS 92 96 2°AIRT FAS TS | AES AFANEN FRUER
@69y DRl QEP6R FRINER. QH1E 218 e GFiaia ARS | 271G 698168 Sa2!
QU3 TG6 690R G ARIF A8 T2, GIS1E AFIFER 7 218 TN | 621N IAS)
JeIaT 98 AEFE6R JRSIRG 62IRCIN 681R ARINIGE 694D @RS |

6QQAIST AAIGIEN QLI ?
A 696165 0F 9A1969 0F QIFl fR98 69I8G AFAGIE §LITN |
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vB. 60951168 07 9A269 OF Q17 S9E 62€10g AANFIE §LIAN |
e 699168 0F 99269 QR FIfl 998 626Ieg ATNGIE §LIAN |
D. 6DQENIEE B AF6R 0F SIFl 908 6201eg JAAUGIE QEIAN |

2AQ684F IO GI' G6R QAILINYSI dYYLAN AR, AFERS ARIKAECK G2 |

0% an96R 0F FiFl A0S 6268 AARIGES! | 6AREIEE 921 9°07 GRUIE 629G
AAGEE 69IR GRIAN | SIRE1 2J6R D66 2T AR 671G AAAGAE | 69 FFAER-
'geR & QRIS VEISIS' | ARG ARG 09! 2 agag A9l 9ede @Rl |
R°6RRFI6R T g4T QU6 YRIFY 69R2Y6R | ARG FlI68 AFIUGIE 6VS6E 62T
geR 6URYSIQ 26T FR6A TR 62IRRIT | 9RSIAR T8, AR YRR AT
JR% TERIE. PRER 666 661 A6M § AIRG1A FlI6E 5 ARINCR AVYS AT AIR
2QdIQ FIE1E | FIF169 TRA 626m 9618 65 £ | 9616 6a9R 21Te QuIdIa gaae
6% | ArleNgEn AR6RRI. AN AIFARIE 6015 9518 8% 6902 | D9 694 68868
a6l GEg 0868, AFINEIIG 92 A AN G 2ALHR | AFE AFALNE FRIES
QEQY 0Q4l QEPeR FRIREA, F1E Ala8l 81 eAaIR AIRS | 2rag 694115 S9!
QUB TR9 699 8 ARI 4R 62N, FIF10 IRIFER £1: 2% G | 69RIaIR Ae1g)
92IS1 DR AEPE6S ERBIRG 621RelN 691R ARG F5SY8 S5 2IE |

MG FAA |G 65R2N 2

Q(7)

JA. @869 A96eRLANNR QRIS 6215 9E1E 6F 680N |
B. ¢l6Qg62 AF6LR.AFHAR 2GRS 695 951G 8F 68RF2UN |
acleRg6 09061909 2RI 64Ig 9418 ARG 692 |
D. Qdeug6a AS6LRI.ATAR 2IGAFIS 6215 9916 21D QIR |

Options

2AG6RLT AI0SR €' 67 FAINYS JIYEEN QAR AFERS ARINEHR &2 |

0% 9FI56R 07 9IFl 931 6208 AFAGIES! | 609FI6T 121 2°09 FRAS 62AITF
AAIGIE 69IR QLI | SING1 26R G668 AS 6RTR AANGIEN | 6 AGAEH-
'FeIRL T QIS REISIS | 490G RIS K98 22 fgog 29aIe 99 999! |
R6ABEIEE 1T YIT AT6R JAIFY 69RAEA | VUG FlI6T AAVIGIE 68860 62T
geR 6TIRYNIR ACTR IR6A FRE 6TIRAT | IRGIIR T8, AR YR AN
J9% §EAIT. PRER 6966 661 U6M & AIRGIE FIEE T QARIN6R K0S AU AIR
SACIQ QIDIE | FIF6R TRA 626R QG @G T4 | 9616 699R 2128 QUIAIR Aae1
g6e | @el68G6 AR6RRI, AN 2ICARIF 6015 916 8 680N | T 694 69568
¢ AOg O86R, IAIFEIIF 92 AF A°AIRT FRSI 2ALEYR | AT AANE FIER
a6leY 09l GEPeR gRIREA, 9416 206l 81 4R ARS | A6q 698IR S92l
QU BGR 689F BC IS AR GalIN. FIBIE A6 £ 2 28N | 691D 15
g1 DFILQ QEPE6R URGIRG 681R2N 691R AFIHISE FS4YS a5IE |

919 9°AF6R GIFR1 26 @E2Y6m ?

Q(18)

A, 999§ AINIG 9ISIS 995 SIRGT STRER |
_ B. 969 & Q8IS 5915 Y91 SIgIR @86m |
Options s o —~
vC 998 T A8IS Q9IQle Y03 SIF R aZelem |
D. 999§ NG SISIS 995 §IYIR SEFER |

Q1) 2196297 €I068 o' €67 FAIRAS| YYELN QAR 2AFERET ARINER §2 |
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0% 2e1e68 0F qlFl 9841 6298 AAIGRES! | 69951168 91 9°Ug S0CI9E 62718
AANGIEN 621 GLIAN | SING1 U6R G641 2T OB 6RITA AANGRE! | 62 FFAEA-
A0 & QNS REIKIE | 909G 2A9FIE KRS 22 BYg AAAIS 9ede /S |
RCARENET 9T GEIT AU6R YRIIFY 699L6M | NAS1E FII6T AANGE! 69869 62
Q9R 62IRYFIR A6ER FREA FRG 621RIS | IRSIUR FULL, TR YACIR LD
9% SEAIE, PRER 6D6G 6611 26M | UIASIA FI6T T @ARIR6R AAYS AU AR
RACIQ AIEIT | FIFIER TRA 626/ §FIE GF 89 | 9F1T 6997 21de DI A28
6¢ | Rel6HB6R ARCRRI. AFAR 2IAAIF 62I5 9H1E 8 66921 | D4 606 68869
ad 9ag 0867, ARIFEIIIT 92 Qe °AIRE SRR AIRENT | AFE AABIE FRIER
69y 0R4ll R6P6R SRIRER, 2618 298I /N SALIR AIRS | ATAG 6°4I8a g2l
QB FRR 679R VS AT 13 2, FISTE RIFER F1 2118 22N | 62T A1
QRIS DA AFEER TASIAG 62IR2N 691 ARG FGS FRIT |

deIAG 690 ARHISIE 689 F156aINE QR2IG ?
aa1g g2Ie1 AFI9Q AEFe6a IRGIAG 68IRelN 691R AGHIIE FS6aINE AR2IE

JA. |
B Q1G9 694 ARV REPLER VRIRES 6212 621 FFR1GE F196UIVS @RI@
’ I
Options \_ L o
C g9 92l AN JRILER RSIRG 6LIRN2IN 691R AT S5 F106dINE @5l
’ I
D A61g 29I DAL QEPFER IRRIRG 62192l 6Q1R FITFGE F196AINE

S |
2AG689T AI0RA €' e6R TAINNYS] gYGEen QA9 AFERT ARIACA G2 |

o qe6R 0% QIf @8R 628 gﬂma@@@l | 6ARCNEEH 9| 2°0 a@ala@ [Safalial=yg
Elﬂﬂlii@@n 65IM GLITN | GIFG1 2J6m K64 2T AP 6RITQ AFALIGE | 69 KG26M-
A1 & QIVIG QEIRIS | ARG A4S KRG 212 Qg ALFIe JREe /RS |
R°6AGAET 9T 6T QTR YRIFY 69R2A6M | VNG FII6S gﬂﬂlg%ﬂ 68G6Q 62T,
QaR 6QIRIYSIQ A6AR ANET TLE 62IRAIG | FAGIIRN VL, KR YR AT
JOR GEQIE, PREQ 6D6@ 651l 2em S QgL clieq 8¢ QRINEH QOYS AU R
FAIQ FILIE | FIFNEA IR, 6T6M QG GG &9 | gm@ 6997 21Te QUIAIR 2281
269 | R¢leRg6R AR6LRI, AFLR AIARIS GEJISlQG“I@ 0% 62R2N | 9 609 68569
adl f0g 9864, ARECRIN 2 Qe 2°Ieq ARQ 2ISER | AES LAANEI FRIER
AERY 06l REP6R  GRINER, gm@ 21961 81N *FAIR QRS | deag 695100 8RS
QYR TAR 699R FG ARG 97 G2, RlS1L: ARFER €1 IS 22l | GQQGI@ aglgl
Je1e1 AF1LQ QEPE6R IRAGIRG 6QIR2IN 69IM FIRIIGIE AERYL /R2lIT |

A~

RQUACIA FlI6E FILF FRE 6RINAIG ?

Q(20)

A QUG FI6E A6 6TG6R ISR 6TIRILIR GG 6212 |

B.  QIOGIAFI6E AAQIGRE 6986 QIR 6SIRASIR 7RG 62IRG2T |

C.  QIOGIL FI6R ANGRE 6886 IR 62IRRISIR 56 6T1R2IE |
/D.  QIOSIE FI6E AAGIE 6986 ER 6SIRARIQ FRG 6QIR2IT |

Options

Subject: General Studies and Computer | Chapter: 01-General science
Q@) Total internal reflection occurs when angle of incidence is

Options JA. greater than critical angle
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B. less than eritical angle
C. polarizing angle
D. All of the above
Q(2) | A\V-shaped valley is a feature produced by

VA youthful river
. B. mature river
Options )
old river

D. All of these
Q@3 The greatest average annual precipitation is on

A. Hawaii
B. India
Options
v C. Philippines
D. West Indies
The basic objectives of Indian planning are
Q@& (1) economic growth (2) self-reliance
(3) employment generation (4) population growth
A. 1,2 and 4
v B. 1,2and 3
Options
2and 3

D. 1.2,3 and 4

Q5 What is the process by which a lipid mass is converted into a number of small droplets?

A. Saponification
v B. Enulsification
Options o
Oxidation

D. Dehydrogenation

Q(6) | A good source of vitamins of B group is

A. carrot
) B. fish oil
Options )
JC. germinated seeds
D. egg yolk
Which of the following statements is INCORRECT about Header & Footer in MS-Word
Q) o
20107
A You cannot insert a picture in header & footer area.
- B. You cannot apply Drop Cap feature to header & footer text.
ptions ) )
s You can specify a unique header and footer for the first page of the document.
D. You can specify different header and foter for the odd even numbered pages.
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Q@ A memory card

JA. Has a fixed storage capacity.
B. Is small circular plastic card
Options . .
. [s a volatile storage medium
D. All of these
Q (9) A is a series of Word commands that you group together as a single operation to
accomplish a task with a single click.
JA Macro
) B. Automation
Options )
C. Execution
D. Statements

Q (10) | A non-communicable disease is

A, measles
) B. rabies
Options ' ,
G diphtheria
JD. diabetes
Q (11 Computer programs that can replicate themselves without any human action and cause harm
to the computer by consuming memory or network bandwidth are called
A. Web Spider
v B. Worms
Options
C. Metasearch
D. None of these
Q(12) The alkali metals have relatively low melting point. Which one of the following alkali metals
is expected to have the highest metals is expected to have the highest melting point?
JA. Li
] B. Na
Options
C. K
D. Rb

Q (13) | What does a ruler shows?

A. Page width
] B. Position of tabs, columns, etc.
Options
C: Length of the document

JD. All of these
Q (14)  Which of the following chemicals is called Hypo?
Options | 4, Sodium chloride

v B. Sodium thiosulphate
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C. Potassium sulphate

D. Potassium nitrate

Q (15)  The Fourth Buddhist Council was held by

A, Ashoka
v B. Kanishka
Options
C. Chandragupta
D. Harshavardhana

Q (16) = Which Sikh Guru constructed the Adi Granth?

A. Guru Amar Das

o B. Guru Hargobind
Options )

J G Guru Arjan Dev

D. Guru Tegh Bahadur
Q (17) = The shape of our Milky Way galaxy is

A, circular
B. elliptical
Options _
LG spiral
D. None of these

Q(18) Which one among the following was added in the year 2012 in the list of world heritage sites
of the UNESCO?

v A. Western Ghats
) B. Agra Fort
Options )
C. Ajanta Caves

D. Meenakshi Temple
Q (19)  The leader of the House of Council of States is a

VA Minister of a Cabinet Rank

) B. Union Minister
Options ) )
C. Vice- President
D. Speaker

Q (20)  Public opinion means .....

v A. opinion held by general public
B. media driven opinion
Options
C. political decision made
D. opinion held by foreign countries

Q(21)  Devaluation of currency by a country is meant to lead to
1. expansion of import made

2. promotion if import substitution
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3. expansion of export trade

Select the correct answer using the codes given below.

A. Only 1

‘ vB. 2and 3
Options

[ B2 1 and 2

D. 1 and 3

Q (22)  Anantapur district in Andhra Pradesh is famous for

A. Copper
B. Zinc
Options
C. Mica
v D Gold
Q (23) Who was the Editor of Utkal Dipika published in 1866 :
A. Fakir Mohan Senapati
B. Baikunth Nath De
Options
JC: Gouri Shankar Roy
D. Nilamani Vidyaratna
Which one is the largest district of Odisha by area :
Q (24) . d
JA. Mayurbhanj
B. Malkangiri
Options
C. Nayagarh
D. Cuttack
Q (25) Who was the Third CM of Odisha :
JA Biju Patnaik
B. Biren Mitra
Options

L B Biswanath Das

D. None of These

Q (26) | Who formed the “Swaraj Party” within the Congress?

A. Jawahar Lal Nehru and Motilal Nehru
B. Abdul Ghaffar Khan and Mahatma Gandhi
Options
C. Jawahar Lal Nehru and Subhas Chandra Bose
v D C.R. Das and Motilal Nehru

Q (27) | India celebrated the 118th birth anniversary which Prime Minister on October 027

Options | 4 Jawahar Lal Nehru
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v B. Lal Bahadur Shastri
. Atal Bihar Vajpayee
D. Narender Modi

Who has won the "Best Actor" in the popular awards category at the 67th Filmfare Awards
Q@8) | 29229

VA Ranveer Singh
B. Ayushman Khurana

Pankaj Tripathi

D. Vicky Kaushal

Options

Q (29)  Which city was the venue of the Heads of Asian Coast Guard Agencies Meeting?
VA New Delhi

) B. Kolkata
Options

Mumbai

D. Chennai

Q (30)  Union Minister for Education has inaugurated IInvenTiv at which I1T?

A. IIT Madras

B. IIT Guwahati
Options

C. IIT Kanpur

sD. 1T Delhi

Subject: Numerical Ability and Reasoning | Chapter: Numerical Ability-Number System

Q@) On simplifying (\/5 + \/7) 2|.We get
A. 12
B. v/35]
vB+ 7
s D. 12 + 2/35]

In the following question, five words have been given out of which four are alike in some
QQ) manner, while the fifth one is different. Choose out the odd one.

(a) Misdeed (b) Corruption (c¢) Failure (d) Offence

Options

A, Misdeed
) B. Corruption
Options )
Failure
D. Offence

In the following question, five words have been given out of which four are alike in some
Q@3 manner, while the fifth one is different. Choose out the odd one.

(a) Konark (b) Madural (c) Ellora (d) Khajuraho

Options | 4 Konark
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QM)

Options

Q)

Options

Q(6)

Options

Q)

Options

Q®

Options

QY

Options

JoinUs-' > f

B. Madural
v C. Ellora
D. Khajuraho

Choose the correct alternative that will continue the same pattern and replace the question (?)
mark.

101, 100, ?, 87,71, 46

AR
B. 88
JC. 9
D. 99

The difference between a number of two digit and the number obtained interchanging its
digits is 63. What is the difference between its digits?

A5
B. 6
JC 1
D. 8

The sum of all natural numbers between 100 and 200 which are multiples of 3 is

A. 5000
JB. 4950
C. 4980
D. 4900

Madan is 40 m South-West of Bhuwan. Shyam is 40 m South-East of Bhuwan. Shyam is in
which direction, T is located with respect to P?

VA East
B. West
C. North-East
D. South

How is my father's sister's son's sister related to me?

A. Grandmother
v B. Cousin
C. Data inadequate

D. None of these

A man does not want to change his expenditure for the consumption of sugar. If the price of
the sugar increase by 60%, then the man must reduce his consumption by

A. 60%
B. 40%

vC. 37—;~|%

220
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D. 35%

Q (10) By selling a cycle for Rs 2345, a student loses 19%. His cost price is nearly

A. Rs 4000
B. Rs 5000
Options
Rs 3000
D. Rs 3500

Q (11) The mean temperature of Monday to Wednesday was 37°C and to Thursday was 380C. If the
temperature on Thursday was 4/5 that of Monday, the temperature on Thursday was

A.  380C
vB. 369C
Options 0
C. 40°C
D. Data inadequate

Q (12)  The number 649758 is divisible by

A. 5

_ B. 9

Options 2
D. 11

Q (13) = Which term of the sequence 7,10,13,...is 151 ?

A. 29th
B. 19 th
Options
C, 59 th
v D. 49 th

Q(14)  Find the LCM 0f3.9,12,15 and 6

A. 240
B. 90
Options
v C. 180
D. 120

Q (15)  Find the least number of girls,so that they can be arranged in the groups of 15 or 20 or 30.

JA. 60
B. 90
Options
45
D. 80

Q (16) 'Sports' is related to 'Logo' in the same way as 'Nation' is related to

Options JA. Emblem
B. Animal
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C. Ruler
D. Anthem

In the following question, choose the pair/group of words that shows the same
Q (17)  relationship as given at the top of every pair/group.

Water : Oxygen

A. Helium : Nitrogen
) v B. Salt : Sodium
Options
C. Tree : Plant
D. Love : Hunger
Q (18) 10 yr before,the ratio of ages of A and B was 13:17. After 17 yr from now the ratio of their
ages will be 10:11. The present age of B is
A. 23 yr
B. 40 yr
Options
v C. 27 yr
D. 44 yr

Q(19)  Raman's salary was decreased by 50% and subsequently increased by 50%. He has a los of

A. 0%
) v B. 25%
Options
C. 0.25%
D. 2.5%
Q (20) Ajeet calculates his profit percentage as a percentage of selling price.He sells an item for Rs
150 and calculates his profit percentage to be 20%.what is the true profit percentage?
A. 20%
v B. 25%
Options
C. 22.5%
D. 15%

Q@) A and B invested Rs 24000 and Rs 8000 for a period of 2 yr. After 2 yr.they earned Rs
48000.what will be the shares of A and B out of this earning?

A. Rs 35000.Rs 18000
v B. Rs 36000, Rs 12000
Options
C. Rs 38000.Rs 12000
D. Rs 36000, Rs 15000

Ajay deposited two parts of sum of R 25000 in different banks at the rates of 15% per annum
Q(22)  and 18% per annum,respectively .In one year,he got R 4050 as the total interest. What was the
amount deposited at the rate of 18 % per annum?

Options | 5 R 9000
B. R 18000
C.  R15000
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D.

None of these

A sum of money at compound interest amounts to thrice itself in 3 yr.In how many years will

Q23 | it be 9 times itself ?
A. 9
B. 27
Options
vC 6
D. 3
Asha walks 3 km Southward and then turns right and walks 2 km. She again turns right and
Q (24) | walks 3 km and turns toward her left and starts walking straight. In which direction is she
walking now?
A. East
) B. North
Options
C. South
v D. West
If we solve the following two equations using cross multiplication system, what will the value
Q(25) ofxbeequalto?
ax+byy+c¢;=0 and a)x +byy +co=0
c,a, —C,a,
A. ab, —a,b,
ab, —a,bh
B- bic, —by¢
Options
ab, —ab
C. e ey
a5 —C,a,
b, —b,c,
J D a,b, —a,b,
Q (26)  How much is the Median of the first 9 digits greater than the Median of the first 8 digits?
A. 1
v B. 0.5
Options
2
D. 1.5
Q (27) | What is one of the solutions of the equationx +y =0 ?
Options | 4 (2,3)
v B. (-5.5)
C. (6, 6)
D. (-4,5)
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Q (28) If the mean age of 4 boys is 7 years and the mean age of 6 girls is 12 years, what is the mean
age of both boys and girls?

A. 11
B. 12
Options
JIC. 10
D. 8
Q (29) If we divide each of n numbers of numbers with M mean by 5, what will be the mean of the
new numbers?
A. M+5
B. M-5
Options
M
v D. M/5

Q (30)  What is the value of p if the equations X2 - p(3x -1) = x are additive reciprocals of each other ?

A. 1/3
B. 213
Options
-2/3
v D. -1/3
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